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Dividing & Rationalizing the Denominator Name:

(-

Notes Date:

Dividing Radicals
e If Va and ¥/b are real numbers and b # 0, then ':/Tg = 'J%

Simplify.
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What should you do when there is a square root in the denominator?

For a radical expression to be “simplified”...
e No perfect square factors under radicals
e No radicals in denominators
e No denominators under radicals
To solve this simplification problem we are going to RATIONALIZE THE DENOMINATOR!

Rationalize the denominator:
e Multiply the fraction by something equivalent to 1. (The same value to the top and bottom...)
e Goal: Create a perfect square/perfect n' factor in the denominator.

Simplify the radical expression completely.
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